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1 Introduction
BS ACLR requirement is pending on co-existence simulation results [1]. This contribution discusses how to define ACLR requirement for NB-IoT BS based on co-existence simulation.
2 Discussion
2.1 ACLR for standalone operation
Co-existence simulations are performed between NB-IoT and GSM/UMTS/LTE systems. Because 100 kHz guard band is reserved between NB-IoT and GSM, there could be two ACLR definitions which are illustrated as in Figure 1.


[image: image1]
Figure 1 ACLR definitions for NB-IoT BS

Based on these two definitions, we can summarize the ACLR requirement according to co-existence simulation results from [2] in Table 1.
Table 1 Required ACLR in co-existence simulation
	Victim system
	GSM
	UMTS
	LTE

	Adjacent Channel bandwidth
	200 kHz
	5 MHz
	10MHz

	Adjacent Measurement bandwidth
	200 kHz
	3.84 MHz
	9 MHz

	NB-IoT Adjacent channel NO. for definition 1
	 ≥ 1st
	≥ 3rd
	≥ 3rd

	NB-IoT Adjacent channel NO. for definition 2
	=1st
	≥ 3rd
	≥ 3rd

	Required ACLR
	40 dBc
	40 dBc
	45 dBc


As emission mask requirement for standalone operation is also proposed to reserve 100kHz guard band, it is also proposed to reserve 100 kHz between NB-IoT channel and the 1st adjacent channel for ACLR requirement.

Under this assumption and the summary in Table 1, it is proposed to define three ACLR requirements as in Table 2. For adjacent channels larger than the 3rd adjacent channel, the rejection is expected to be much larger than 50dBc according to proposed UEM requirement in [3] so no need to be defined.
Table 2 Proposed ACLR requirements in co-existence simulation
	ACLR
	Requirement

	ACLR1
	40 dBc

	ACLR2
	40 dBc

	ACLR3
	45 dBc


2.2 ACLR for in-band/guard band operation
NB-IoT In-band and guard band operation should meet LTE existing ACLR and UEM requirement. UEM requirement is approved in [1]. For ACLR, because two systems are overlapped in original LTE channel bandwidth, it is proposed to define ACLR requirement for in-band/guard band operation and reuse existing LTE ACLR requirement. The measurement bandwidth for the adjacent channel is kept unchanged.
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